PROFESSIONAL EXAMINATION BOARD

Pre-Agriculture Test 2016
16th May 2016, 02:00 PM

Topic:- MS_Physics
1)

Question Stimulus :-

The energy which an electron acquires when accelerated through a potential difference of 1 volt, is

called- /38 Sulf & SAFIT B 1 AT [AHITAR § ARG P2 F RIT AW S 8, Hear o-
e 1 Joule /1 Yd
e 1 Electronvolt/ 1 ?ﬁﬂ@'ﬁaﬁﬁ'
« 1Erg / 1 3Rf
« 1 Watt / 1di¢
Correct Answer :-1 Electron volt / 1 SA&eH dlee

2)
Question Stimulus :-

The number of electrons in an atom of atomic number Z and mass number A is - /ﬁwﬁmﬁ'

AT B T T=T BT, afe IS SMuifae T 2 3R S ST A 82



(A-1Z)
° 2

Correct Answer :-Z

3)
Question Stimulus :-

If a current is passed in a spring, it - / gfe fdt fBF A & urT yarfed #1 =il 8 9 98-
« Gets compressed / &9 STl @
« Gets expanded / %d ST @
e Oscillates / aﬁmm‘cﬁ%
e Remain unchanged / Gmﬁﬂ'ﬁfﬂ?%’ﬂ’f%
Correct Answer :-Gets compressed / ¢d STl 8

4)
Question Stimulus :-

Which one of the following is not used to reduce friction -/ HYUT B HH HI4 & o Fafafaa d I feaer
SUANT &l o i 8-

e« Oil/ da
« Ball bearings/ did faafr
. Sand/i‘d



e Graphite / ‘:TCFITC’
Correct Answer :-Sand/ 3d
5)

Question Stimulus :-

If a body moves with uniform acceleration 8m/s2 from its rest position. The distance covered by the body after 5

sec will be-/T% fis fiRMERIT & T G0 @RI 8 H/A2 & I URY HXdl g1 5 IHUS A delt T g3t giil-
36 meter/ 36 Hic?
e 40 meter/ 40 #Hiez
e 100 meter/ 100 Hiex
e Zero meter/ A Wex

Correct Answer :-100 meter/ 100 #Hicz

6)
Question Stimulus :-

In the following nuclear reaction, what does X stands for- /ﬁn:r YTy fpar & X o E'Qﬁ?IT % ?

e UB+BY+X

 Proton/ WieiH
e Neutron/ =qu=r

e Neutrino/ =gfe-l



e Electron/ Saiaeiq

Correct Answer :-Neutrino/ <f¢-l

7)
Question Stimulus :-
A train has a speed of 60 km/h for the one hour and 40 km/h for the next half hour. Its average
speed in km/h is- / Gf¢ TP ¥a &I 7fd Ugd T G2 & 60 km/h & 3 30T 3 G¢ A 40 km/h & I IHS! 3NTd
T km/h ® gfi-
e 50
e 53.33
e 48
e 70
Correct Answer :-53.33
8)
Question Stimulus :-
The dimensional formula of angular velocity is- / HIviig 3 &1 faeig JA %—
o MeleT1

o MLT™1

o MOL°T!



o ML°T™2

-1
Correct Answer :-M°L°T

9)
Question Stimulus :-

One Wb/m?2 is equal to- / T q&R /HIe32 RN -

104 gauss/ 104 ¥

102 gauss/ 102 ¥

102 gauss/ 10°2 ¥

104 gauss/ 1074 79
Correct Answer :-104 gauss/ 104 7ig
10)

Question Stimulus :-

Two waves having amplitudes in the ratio 5:1 produce inference. The ratio of the maximum to the

minimum intensity is- / & T & AT HT 3UTd 5:1 § Td ol TH ga¥ W ARG g, df epay v
A iteret # 3T BHTI-
e 25:1

° 6:4

e 9:4



o 3:2
Correct Answer :-9:4

11)

Question Stimulus :-

Joule-Second is the unit of ? / JA-A$S fha®d! SHTS g2
« Work/ ®1d
e Momentum/ AT
e Pressure/ old
e Angular Momentum/ P HaI
Correct Answer :-Angular Momentum/ IV HaT

12)

Question Stimulus :-

A man pushes a wall and fails to displace it. He does - / T&% afdd SR &1 Ybadr g dfea IQ faxafa
H W SRTPd Tgdl ¢ a9 IUP gRI fhar a1 Hd-

e Negative work/ ToPRIHD Gaui %

e Positive but not maximum work/ YdTdH®D wfepa sifiredd ﬂv'l'tfqﬁ
« No work at all/ ®Ig &4 =gl

e Maximum work/ GI'FEIWW%



Correct Answer :-No work at all/ 13 &1 T8I

13)
Question Stimulus :-

If a spring pull down by 2 cm,, it has potential energy U, but if it will pull down by 10 cm. its potential energy will be- /U®
B 3 2 9 Tiem R 39d fRfaw &t U 8, g afe 33 10 I @i simar g 99 RAfes i gift-

u

o 25

e 25U
e 5U
Correct Answer :-25U

14)
Question Stimulus :-

A hollow sphere of copper is positively charged. Then the electric field inside the sphere is- / GICE:|
TS Wil e YA far | 8, 99 Md & iR fagaa a-

e The same is the field at the surface/ ddg & ?33[ & U @TIT

« Greater then the field at the surface / Jdg & &3 I 3ifde ghm

« Less then the field at the surface, but not zero/ Idg & &3 q $H I Afb A el g
e Zero/ EZ]F!IGTTIT



Correct Answer :-Zero/ 3’!11T

15)

Question Stimulus :-

The unit vector along i) is- /4] & AT UPpie Al NI

. E

I+ j

Correct Answer :- V2

16)
Question Stimulus :-
The dimension of pressure is- / &9 T fgHg AE® gH1I-

o MLIETE
o MIITZ
o MZT1

o MLIT-2



1r—1—r-2
Correct Answer - LT

17)
Question Stimulus :-

The equivalent resistance between the terminals A and B in the given network is - / R M Acad # A
Y B <fiFa & uer Ju@ e ufaRiy &1 94 ghm-

20} 20 21 20 20

A o A A dogs
60 § 6oy % 40 ¢
] —" PP TY T e M e

20 20 20 20 20
e 30Q
°* 40Q
°* 16 Q
* 8Q

Correct Answer :-8 Q

18)
Question Stimulus :-

Absolute temperature caw be calculated by- /UR¥H dIU CARILE| 3‘-{3[ ¥ frad grT 1 &1 TPl %—

e Mean square velocity / & I a1



e Motion of the molecule/ 3f7] &1 Tfd
« Mean square velocity and motion of the molecule both /9@ 9 a7 3{i¥ 3] $I 7fq gl
« None of the above/ SWRIa # ¥ &g !

Correct Answer :-Mean square velocity / §d Y aTn

19)
Question Stimulus :-

A convex lens of glass, has power P in air. If it is immersed in water, its power will be- / T &Id &1

Sod a9 forge! arg ® wfed P 8 I afe 39 urt A gamam wiran @ o 39t Wfe ghfl-
More than P/ P ¥ 3ifd&

Less than P/ P d &H

e P

More than P for some colours and less than for other / $& 3 & o P & 3if® 3R AW
& R pA®H

Correct Answer :-Less than P/ P q v

20)

Question Stimulus :-

Radioactivity was discovered by- / If&at sifuferar &t @ie &1 A-
e J.J. Thomson/ o.o. 49 A



« W. Reontgen/ $&] &ciF A
e H. Becquerel/ Td. aﬁzﬁﬁﬁ
e M. Curie/ TH. &I 4
Correct Answer :-M. Curie/ TH. R A

21)
Question Stimulus :-

Quantity that remains unchanged in a transformer is- / dg HIH <l fo 'g’mwﬁ? A sruf¥afda Iedl %—
« Voltage/ diced
e Current /4RI

e Frequency/3(TgfI
« None of these/ ¥ ¥ &I gl

Correct Answer :-Frequency/3gf

22)
Question Stimulus :-

The Kinetic Energy of a body of mass 3 kg and momentum 2NS is - /ﬁv_\tﬁfﬂ'ﬂ oraeT goowE 3 fHur. iR
HAM 2NS § d D! e SHelt ghft-

e 1)

Ll | Ba



Ba | 2

"
rs

Correct Answer :-3 J
23)
Question Stimulus :-

Two pendulums oscillate with a constant phase difference of 90° and same amplitude. The maximum
velocity of one is '. The maximum velocity of the other will- / & dla® T fAfdd Faiar °0° w® I9H
AT § G B T § I T BT ATUDaH a1 ¥ § A gux &1 SfUdad a7 ghm-

021"

Correct Answer :-*

24)
Question Stimulus :-

A current of 4.8 A is flowing in a conductor. The nhumber of electrons passing through any cross-

section per second is- /WWW&SAH%WWT%H@@%IWWW@WWﬁW
a1 P FAAag Il Pt ST FIM-

e 3 x1019



e 3 x 1020
e 7.68 x 101°
e 7.68 x 1029

Correct Answer :-3 x101°

25)
Question Stimulus :-

When a magnet is heated, then it- /59 {5t oo &t 7 far wiar 8, 99 98 -
« Loses its magnetism/ Y& P a7 ¢al 8
 Gains magnetism/ 49 @ UTW HIcl §

e Gains magnetism up to a certain temperature and loses magnetism beyond that

temperature/ U AU 9% Yabd UK Bl 8 3N IHP dIG Yab Tai ¢dl @
« Neither gain nor losses magnetism/ 7 @ Y& U &l ¢ 3% 7 8 arar @
Correct Answer :-Loses its magnetism/ Eﬁlﬁ P 4l St %

26)
Question Stimulus :-

Alternative current can be measured by- / UTadl YRT PT ATYE foBar &1 Jadr %—
e Moving coil galvanometer / Wﬁl‘qﬁwmﬁﬁ g1

e Hot wire ammeter/ 39l dR 3R gRT



« Tangent galvanometer / TR AegIHIeY §RT
« None of the above / SWRI& & ¥ &I gl
Correct Answer :-Hot wire ammeter/ W d¥ 3HIeR gRI

27)
Question Stimulus :-

Write copper, steel, Glass a!nd Rubber in order of increasing coefficient of elasticity- / YTRIdT OIS
& YR W did], ST, H1d U4 I3 T HH gHI-

« Steel, Rubber, Copper, Glass/ $Td, Y&%, didl BId

« Rubber, Copper, Glass, Steel/ IR, didl, ®Id, ST

« Rubber, Glass, Steel, Copper/ I8R, ®Id, ST, didl

« Rubber, Glass, Copper, Steel/ IaR, ®Id, didl, ST
Correct Answer :-Rubber, Glass, Copper, Steel/ I}, ?:b‘“r'ﬂ, didT, ST

28)
Question Stimulus :-

When there is no external force, then the shape of a liquid drop is determined by- / Sd o<t ava &t
¢ & SR BIg 91e 9 YARITUT 8] 8idT 8 a9 39 §g P PR b upR FAuifea fea smar g 2

e Surface tension of the liquid/ d¥d & Yts g a

 Density of liquid/ TR & 99 A



e Viscosity of liquid/ TRd &1 =T 4
« Temperature of air only/ %dd §4T & dIUHE A
Correct Answer :-Surface tension of the liquid/ TRd & PLOGEIC] |

29)
Question Stimulus :-

Matter waves are - /&7 a3 &-

e Electromagnetic waves/ ﬁ'g!rcr ECEdp a

« Transverse mechanical waves/ 33U TifA® a3

e Longitudinal mechanical wave/élﬂ%‘iﬁﬂ'iﬁﬁ a3

« Neither Electromagnetic nor Mechanical waves / 7 @ fagad ga@ i =1 €1 gifA® a3l §
Correct Answer :-Neither Electromagnetic nor Mechanical waves / Gl ﬁg’lﬁ Eﬁﬁﬂ'ﬂ Gl é’f gifA® a3 %

30)

Question Stimulus :-

The Force of gravitation is - / WQ'UT 99 8-
« Repulsive/ famdur
e Electrostatic Force/ dgadi® 9

e Conservative/ Sxférd



e Non conservative/ 3ERf&d

Correct Answer :-Conservative/ G3féd

31)
Question Stimulus :-

When white light is passed through a prism, the colour which deviates least is- / 99 ¥dd YHI fHdl
forsw o o= ovar 8, 99 B 91 1 999 $9 faafed giar -

e Red/ dId
« Violet/ &t
e Blue/ GG
e Green/ Bl
Correct Answer :-Red/ dld

32)
Question Stimulus :-

A ray of light passes from vaccum into a medium of refractive index p. If the angle of incidence is
twice the angle of refraction, then the angle of incidence is - / USRI &1 f&?ur fAafa ¥ fHdt areaw
AP P H YA Bl §, afe ufad HIor &1 A4 yafdd HIvr & 7 & T §, df ATUferd HIvT BT A gI-

° Cos'1 (E)

e Sin1 G)



* 2Cos™! G)
e 2Sin™1 )

[
Correct Answer :-2Cos1 (:]

33)
Question Stimulus :-

In the adjoining figure the equivalent resistance between A and B is- / e uftuy # A 3R B & 7wy
TG (q7) faRIY &1 914 -

LY ) My M1 M) 0]
1.' e hr B By e i P

fiin] E: il & "‘.-? 'i
] 3

[ W Ko e - A
WY 2 20 w0 ) 2{2

° 120
° 24 Q
° 32Q
Correct Answer :-8 Q

34)

Question Stimulus :-



A 500 kg crane takes a turn of radius 50 m with velocity of 36 km/hr. The centripetal force is - / T®
500 et AT Y B 36 fFariie/ gver & 37§ 50 Hex B R gudl @ df 39T fiF=ia I gim-

e 1200 N
e« 1000 N
e 750 N
e 250 N
Correct Answer :-1000 N

35)
Question Stimulus :-

The direction of the angular velocity vector is along- / Sl a7 giexr &1 fe=m =T BIi-
The tangent to the circular path/ QTvﬂ'q Uy B =1 &
The inward radius/ e B &

The outward radius/ 9181 Bsa1 &

The axis of rotation/ U< & &
Correct Answer :-The tangent to the circular path/ Q'c'vﬂ'q 9y ol W &
36)

Question Stimulus :-

If a body starts to fall freely under gravity, then distance covered by it in first, second and third

second are in ratio of: / & & (TId) TE@HYU & FRU Wad ¥U A 119 B % FARar g, 9 3TF gRI



wyH, fgdia Td qdia dbvs d au &1 T gt &1 rgurd ghm-
e 1:3:5
e 1:2:3
e 1:4:9
e 1:5:6
Correct Answer :-1:3:5

37)
Question Stimulus :-

The theory of refrigerator is based on- / fipwr forw frgiad W &1 & 8-
e Joule- Thomson effect /5d YTHT YHTa
e Newton'’s particle theory / <& &I Rigia
e Joule’s effect / S[cI UHId
« Reversible carno cycle / Ufdadf &1 I
Correct Answer :-Reversible carno cycle / ufaad! &=t Tp

38)

Question Stimulus :-

Isotopes have the same- /GIE'\‘ﬁﬁq H 91 i<l 8-
e Atomic number / UHIY I=AT



« Mass and atomic number / U 3{¥ WA &I
« Avogadro’s number/ TaRIS! |&T
e Mass number/ SUHM ST

Correct Answer :-Atomic humber / TRHIY IS

39)
Question Stimulus :-

The ionosphere is mainly composed of- /3TITHISH JBId: ICCE] %—

Nitrogen and Oxygen/ ATScIoH 3MiR SffaieH
Ozone/ 35

Electron and Positive ion/ Y9TH® 3R BUMTHSD T
None of the above/ SWRIad A | $Ig gl

Correct Answer :-Electron and Positive ion/ YATH® 3N BUTHS TG

40)
Question Stimulus :-

1 volts equals- /1 diee RIS %—
e 1J-C

e 13/C



e 1C/J

« None of these/ 39H ¥ ®I§ gl

Correct Answer :-13/C

41)
Question Stimulus :-

The work done against gravity in taking 10kg mass at 1m height in 1sec will be- / WTHW‘UT ¥ forg
10 5T oA 1 HY. SIS W 1 AHUS d& I8 & fore forar 1 &t sRIe 8-

e 49

e 98]

e 196

« None of these/ 9H ¥ ®I§ gl
Correct Answer :-98 ]

42)
Question Stimulus :-

A number of images of a candle flame are seen in a thick mirror - / HIHgc &1 & &I A SUUr § 3@ W
< wfafds e g €, SW-

« The first image is the brightest / Uy¥ Ufafdq siftre Twatar gm
« The second image is the brightest / fgdig ufafda sifere awstar ghm



« The last image is the brightest / 3ifaw ufafds siftie Tweiar ghm
« All images are equall bright / 9} ufafds T9= aw@ta g1
Correct Answer :-The second image is the brightest / fgdia ufdafda sifere austarn I

43)

Question Stimulus :-

The energy of a photon of wavelength Lis- /4 aee ard wierd &t St ghfi-

o hNcd

he
Correct Answer :-+

44)
Question Stimulus :-

In S.I. system how many basic units we have? / S.I. UGfd A Hd AP @t GBI fha-t 82
e 3

e 5



° 7
e 9
Correct Answer :-7

45)

Question Stimulus :-

A body whose momentum is constant, must have constant- / T& e st fa fRR %, 39 fRRR BﬁT
ATee-

e Force/dd

« Velocity/ a

e Acceleration/ R0l

e All of these/ SWIad It
Correct Answer :-Velocity/ T

46)
Question Stimulus :-

If radius of orbit of satellite of earth is R, then its Kinetic Energy is proportional to- / gfe T{'&ﬁ & SUUS
o BT Dt BT R B, O TP Sl fpad qud | ghfi?

[ ]
=N

[ ]
=
= | =
=1



1
Correct Answer :-R

47)

Question Stimulus :-

Waves that cannot be polarized are - / a3 it 4 oft ¢dig =) gt § -
e Longitudinal waves/ Glﬂ%‘&faﬁ
e Transverse waves/ 3JUX o
e Electromagnetic waves/ ﬁg‘qa ﬂﬁﬂﬂ'ﬂ GEL|

 Light waves/ U&T=I a3dl

Correct Answer :-Longitudinal waves/ 3¢ a3t

48)
Question Stimulus :-

Newton’s second law gives the measure of - / ¢ Pl foiia foras 1o v 8-
e Acceleration/ XUT

e Force/ dd



e« Momentum/ Tfd

e Angular Momentum/ CALCRIIG
Correct Answer :-Force/ dd
49)
Question Stimulus :-

If the Kinetic Energy of a body is increasegl by 300%, its momentum will increase by- / gfe fest a¥q
$1 TIfasT FHeIt 300% TP TS STl 8, df ITPT WA fHa-T I¢7-

* 100%
e 150%
o V300q,
® 175%
Correct Answer :-100%
50)
Question Stimulus :-
Ifﬁ'azpﬁ, then angle between Pand @is - / afe 5'5=Pﬁ,wﬁaﬁ?5%ﬁamwm-
o U7
o 3

, 45°



60°

[ ]
Correct Answer :-ﬂn

Topic:- MS_Chemistry
1)

Question Stimulus :-

The Phosphoric acid is-/ BIbI{Y® 30 gl 8-
e Monobasic/ Tdhd AR
 Dibasic/ fg&mia
e Tribasic/ Fam
e Tetrabasic/ il‘g’?&ﬂ'ﬂ'q
Correct Answer :-Dibasic/ fgamia

2)
Question Stimulus :-

What is the monomeric repeating unit of Nylon-6?/ ATdd-6 3 THa® YRR SHIS T 82
e Adipic acid/ Tfsfus 3=t
« Hexamethylene diamine/ gAY SIETHA
. Caprolactam/aﬂﬁﬁﬂ

« None of these/ 9H ¥ ®I§ gl



Correct Answer :-Caprolactam/%ﬂﬁﬁﬁ%‘q

3)
Question Stimulus :-

The Structure of SCl, is/ SCl, ®I 3THfd 8-
e Angular/ Cain]
e Tetrahedral/ Igh AP
. Linear/i@'ﬂ
e T-Shape/T- 3Tofd
Correct Answer :-Angular/ FIvig

4)
Question Stimulus :-

At room temperature Fes04 is/PHY & 917 TR Fe3 04 T -

e Paramagnetic/3da®
« Ferrimagnetic/HAAes

« Diamagnetic/Ufdga®ia
o All the above/JURIad Tt

Correct Answer :-Ferrimagnetic/ﬁ'ﬁ'ﬁﬁﬁ



5)
Question Stimulus :-

The Oxidation State and Coordination number of [CrCl3 (Py)3] is/ [CrCl3 (Py)3] B MTHIHIUT T
3R TG =T &1 0 8

e +3,6
e +3,3
* +6,6
e +3,4
Correct Answer :-+3, 6
6)
Question Stimulus :-

The Correct Order of bond angles is/dY I BT Hé’f hH ?-

NHE < PH3 ‘{.ASHE ‘{.Sbhra ‘{BEHE

NHy > PHy > AsHs > SbH, > BiH,

NHE ‘:::PHE = ASHE = SbHE = BE-HE

« None of these/STH A &Is a8l

7)



Question Stimulus :-

Which Grlgnard reagent is used in the conversion of acetophenone to 2-phenyl -2 butanol? /

¥ 2- fpar39-2 FYeATa # uRada & forg RrmFrs sifiede &1 IuaiT giar 82

CH; Mg Br

CE HE I'-']gBr

CE- HE I'-']gBr

CH; CH,CH, MgBr

Correct Answer :-"2fs MgBr

8)
Question Stimulus :-

For first Order reaction half life is 480 s then value or rate Constant is/ U4H ®ife & fUfehar ot 3 Mg
480 J&s gl di &3 RRTP &1 919 si-

1.44 S™1/ 1.44 dAbs?

1.44%10°3s1/ 1.44%1073 s

1.44%10°3 S'1 mol1/ 1.44%103 dds ! Aia!

2.88%103s1/ 2.88%10°3 dos!
Correct Answer :-1.44*103 51/ 1.44%10°3 d&s?

9)



Question Stimulus :-

In Haber’s Process for manufacture of ammonia, which metal used as Promoter?/ 3f=ar fAafor #1

e faftr & @19 & urg SRS F1 AR ITAT A <t Sl 72
* Mn
°* Mo
* Ni
e Cu
Correct Answer :-Mo

10)
Question Stimulus :-
In Rhombohedral Crystal System/ fAawdre foheea o7 d-

a=hb=c¢

x=pF =y = 90°

e Both the above/B’lRﬁEr EﬁT-ﬁ
« None of these/ 9H ¥ ®Ig gl

Correct Answer :-Both the above/BTRﬁE[ aﬁT-ﬁ

11)

Question Stimulus :-



Which of the following types of Solution Shows Tyndall effect?/ {9 & ¥ f&g YR & faaus feveT yuma

i 82
« Suspension/ @A
e True Solution/ CIESICEACREE
« Colloid Solution/ Hfere faea

« Suspension & Colloid Solution both/ fAaw+ 3i¥ &fere faea= gt
Correct Answer :-Suspension & Colloid Solution both/ fravaa ok &faa faaa= Gkl
12)

Question Stimulus :-

The molarity of Pure water is/ Y& ol @1 Hiaxdr gidl 8
e 555 M
e 5555 M
e 0.555 M
e 555 M
Correct Answer :-55.55 M

13)
Question Stimulus :-

The Oxidation number of phosphorous in orthophosphorous acid is/TUTGRERYT 3+ H BIEPIRY B
STRHUT JET 8-



e +2
e +3
e +4
e +5
Correct Answer :-+3
14)
Question Stimulus :-
What is ‘A’ in following reaction?/ fag sif¥fear ? A’ R 8?
o

OH
—— CHO+ CH,COCH, = A
Heat




I
___ CH=CH-C-CH,

o All the above/JWRIad Tt

I
Correct Answer :-

15)
Question Stimulus :-

Which of the following non-Ideal solution does not shown negative deviation from Rault’s law?/ =

¥ A B A1 TRt fareyd 8w W @ wunars faga A awiar 22
« Water and Nitric acid/ 5d 3R 5fe® 3
e Acetone and Chloroform / Q?ﬂﬁ? 3R FARIBIH
« Ethyl alcohol and Water/ TfUd TAPIGIA 3R ST

« None of these/ 99 ¥ &l gl

Correct Answer :-Ethyl alcohol and Water/ Qﬁl?r Q?Iﬂﬁﬁﬁ 3R o

16)
Question Stimulus :-

When acetone reacts with bleaching Powder, then the Product is/ 51§ Tdteq MR UrkgsY I sifdfear



HRdl § 99 SADT IAIG 8-
e CHCI;
e CH,Cl,
* CCl,
e CgHsCNO
Correct Answer :-CHCl3

17)
Question Stimulus :-

Which type of Point defect Occurs in AgBr Crystal?/ AgBr fireed o frd woR &1 fig iy uram wirar 82

« Only Schottky defect/ $dd <! &Iy
« Only Frenkel defect/ $dd %&d gy
« Both Schottky and Frenkel defect/ Tc®! 3R el g} SIW

« None of these/ 99 ¥ &I gl

Correct Answer :-Both Schottky and Frenkel defect/ TCH! 3R Hhpd ﬁﬂ’f ﬁ'ﬂr

18)
Question Stimulus :-

In the following reaction what is ‘A’ / g arfufeear & A’ &1 %?



HCl
Benzene+CQ —————> 4 I < CO i

anhydrous AlCl / mﬂ Alc
3

Cyclohexane/ ﬂﬁﬁ%ﬁ%ﬂ'@q
Cyclohexene/ wrrs'a%ﬁ%a%ﬂﬂ
Benzaldehyde/ a\_rl'%?l%?
Butane/ @‘-—I

Correct Answer :-Benzaldehyde/ SGIfcsgIss

W
i

19)
Question Stimulus :-

Which of the following has greater reducing character?/ g o erftrepan Sruaa® ToT e %?
* H,0
* H,S
* H,Se
e H,Te
Correct Answer :-H,Te

20)

Question Stimulus :-



The formula for Iron (III) hexacyano ferrate (II) is/3TARA (III) %ﬂi’l‘lﬂﬂﬂ’f e (II)T JgA %—
« 7 [Fe (CN)g 13
« "¢ [Fe (CN)g I3
« 7 [Fe (CN)s 13
« 7% [Fe (CN)s5 I3
Correct Answer :-%: [Fe (CN)g 13

21)
Question Stimulus :-

Aldol Condensation reaction is given by/ Uesid du=4 3ifufspar 2 8-

e Benzaldehyde/ aﬁ%?l?s

« Acetophenone/ THICIBA

* Proponal/ IV

e Acetophenone & Proponal both/ E‘\“ﬂﬁmﬁ 3R W Gl
Correct Answer :-Acetophenone & Proponal both/ Q‘\:ﬂﬁ'mvﬁ 3R WO ﬂTﬁ

22)
Question Stimulus :-

The Addition Polymer is/ ORTT&I® 9g® @



Polyvinyl Chloride/ U39S d TARISS

Bakelite/ d¥dISc
Terylene/ 3|

Bakelite & Terylene both/ aav?n%'c' 3R el AT
Correct Answer :-Polyvinyl Chloride/ TTdlfa-TIsd FRISS

23)

Question Stimulus :-
Yo = 119 S em2 mol !, * <© = 76.3 S cm2 mol-!

According to above data the value of * for Cacl, will be / G‘lTéTﬁ ATPsl & SR Cacl, & forg Vw1 aM

e 271.6 Scm?2 mol1

27 cm? mol1

271.6 S cm?

e 271.6S
Correct Answer :-271.6 S cm?2 mol™1
24)

Question Stimulus :-

The thermal decomposition of Sodium azide gives/ 9f$UH TS &1 ardiy fageq a1 8-



NH;
NaCN
N

None of these/ 'ﬁﬁ I Elﬁ'sf el

Nz

Correct Answer :-
25)
Question Stimulus :-
The Oxidation number of the metal in [Co®™2(¢™)21+ js/ [CoP2(eM21+ & yrg Y aifeRftepvur @I 2-
e +2
e +3
e +1
* 0
Correct Answer :-+3
26)

Question Stimulus :-

If a first Order reaction is 20% Complete in 10.minutes then for 75% Completion of reaction ti.me
will be in/ af¢ T wyH Hife @t sifufssar 10 fafe & 20% qof gt it 8 a9 3 sififsrar #t 759% qof g1 & @
g gNI-



06 min/06 fafae

62.18 S/62.18 UHs

62.18 min/ 62.18 fafAe

06 S / 06 IHS

Correct Answer :-62.18 min/ 62.18 fifAe
27)
Question Stimulus :-

If 1.71 g of sugar (Molecular Mass = 342) dissolved in 500 cm3 of a Solution at 300 K then Osmatic

Pressure will be/ Tfe¢ 1.71 I B (3MNMfuasd goqH= =342) 500 I3 faqa= A 300k 919 WR Gielt 7€ g1 at
WRTERYT G4 &1 A I

(R-0.083L bar K'1mol™1)

* 0.249 bar

1
e 235 bar

e 2.49 bar
e -2.49 bar

Correct Answer :-0.249 bar

28)

Question Stimulus :-



Which of the following gives iodo form test?/ 19 # § &9 TAISIHIH UI&0T 3T 8 ?

CHE CGCH: EHH

e HCHO

CH; CHO

CH; COOH

Correct Answer ;-3 CoCHCH;

29)
Question Stimulus :-

The Scattering of light by Colloidal dispersion is Called/ HAISS! BN GRT UBT BT YP U HgaTdl 8-
« Brownian Movement / ST&H! Tfd

Tyndall effect/ fevs@ uHIG

Gold number/ Ul T@AT

None of these/ 90 ¥ &I gl

Correct Answer :-Tyndall effect/ fevs@ gura

30)

Question Stimulus :-

If the rate Constant of a reaction is > *19-3 mol L-'min"! then Order of reaction is/ afe et sifufepar
&1 X fRRRIP 3 * 1031 e~ fafae-1 g ot sifufsear &t Sife gifl-



e 1
0

Correct Answer :-0

31)

Question Stimulus :-

The %xidation number of Chlorine atom in Perchloric acid is/ TRFR® 3T H FARIT GRHTY] BT SATRITDBIT
@Il 8-

° +4
°* +7
e +5
e +3
Correct Answer :-+7
32)
Question Stimulus :-

Which of the following exhibits the greatest number of Oxidation state?/ g o Q FiF siftreaw e #
HTRABHROT AT GRITaT 82

o Ir



e Au

® Os

° |-|g
Correct Answer :-Os
33)
Question Stimulus :-

In Which of the following polymer, ester linkage is Present?/ T Taeq g § 9 foa dgdd H grgr SIar

a2

Nylon/ GG
PVC/ Ui.d%.4.
Bakelite/ d%dIge
Terylene/ =

Correct Answer :-Terylene/ =

34)
Question Stimulus :-

Examples of Lyophilic Colloid is/ SaHg! HITSS( Hierel) BT ISIEIN 8-
e Rubber/ I}

e Gum/ Tﬁ?.'



« Gelatin/ forafes
e All of the above/ IWRIad g+t

Correct Answer :-All of the above/ IRIad g

35)

Question Stimulus :-

Which of the following solid is amorphous said/ % S # & sifheediy 3 ?
e Naphthalene/ AB YA
e Zinc Sulphide/ f5i® depEs
e Teflan/ o' NI
« Naphthalene & Zinc Sulphide both/ A% 3R i Aewrgs Al
Correct Answer :-Teflan/ ¢Bd

36)
Question Stimulus :-

What is the state of hybridization of Carbon in 726 =0 2/ H:0 =0 3 rdq &) HI0T S aTIT AT 82

« SP* hybridised Carbon & Trigonal Planer/ 5°’ & d $1a4 i Rwivia gufia
e 5P” hybridised Carbon & Tetrahedral/ 9" H®Rd 4 3R IqHAPIT
e 57° hybridised Carbon & Tetrahedral/ 7’ G&d ®1a4 3R ATHAP



P hybridised Carbon & Linear/ 57 H&f¥d HTa 3R ¥&T|
Correct Answer ;-7 hybridised Carbon & Trigonal Planer/ 5p* dopfyd w1 ok B ivha aafte

37)
Question Stimulus :-
Which of the following is most Stable Complex/ a4 & ¥ 3ifte wrdt ¥oa qfie H=-41 8-

o [Fe(H0)]**
o [Fe (NH3)c]**
o [FeCl*
o [Fe(C20):]°"
Correct Answer :-[F¢ (C20:)s1°"

38)
Question Stimulus :-

The State of hybridization of Xe in XeOF, is/ XeOF,4 H Xe & THIUT B AT 3
o Spid?
o 4%5p°
. Spid

o SP°



342
Correct Answer :-"P @

39)
Question Stimulus :-

The Commercial name of Polymethyl methacrylate is/ ﬁ?ﬂﬁ[ﬂﬁﬁ AYTHeIC BT ATUTRSG ATH %—
« Glyptal/ ferga
* Plexiglass/ RN
e BHC/ dl.uv9.4l.
e Rubber/ I
Correct Answer :-Plexiglass/ WA

40)
Question Stimulus :-

The Correct electronic Configuration of 79AU is/ygAu T HEl AT fa=aTd 8-

1z el 2
[Xe] 4f**5d°6S

14 £ 710 £l
[Xe] 4f** bd*r 6S

14 C 48 £ ¢2
[Xe] 4f** bd® 65

14480l
[Xe] 4f** bd® 65

14 10 1
Correct Answer :-[Xe] #7247 65



41)

Question Stimulus :-

I.U.P.A.C. Name of (€0 WHa)5ClCla g/ [Co (NH)S CTI Cla g1 g7 g Y. wlY, 19 2-
« Penta ammine Chlorido Cobalt (III) Chloride/U=TuHIA TSl dlaTee (III) FIRISS
« Penta ammine Chlorido Cobalt (II) Chloride/U=TeHIH TSI Hialee (II) FRISS
« Penta ammine Chlorido Cobalt (III)/ U=TeHH TSl Hidiee (III)

« Penta ammine Chlorido Cobalt (IV)/ U=TeHH FAIRS] Hidlee (IV)
Correct Answer :-Penta ammine Chlorido Cobalt (III) Chloride/U=TeHH T@IRs! didTee (III) FARISS

42)
Question Stimulus :-

In Clemmensen reduction aldehydes and ketones gives/ FAAGT uga— A Q‘%ﬂ?ﬁ 3R B ad %'-
« Alcohol/ TaHIEId
e Acid/ 3%
 Hydrocarbons/ g5SI®Tad
e Amines/ THIA

Correct Answer :-Hydrocarbons/ EE‘Q?)‘IT{T-[

43)



Question Stimulus :-

In the following reaction what is ‘A’/ g arfufesar " AR %

NalH, B
CHz—CHy = Co=NHy= — A

CH; — CHy — CH, — NH,
CH; — CHy — NH,
(E‘Ha}z NH

None of these/SH A &Is 8!

CHy — CH, — NH,

Correct Answer :-

a4)

Question Stimulus :-
Naturally occur Polymers are/ Wﬁﬁ? qgdd %'-
« Proteins and Nylon-6/ Nd&H 3R AMd@-6

e Nylon-6 and Nylon-6 6/ -6 3R ATTA-66
e Starch and Cellulose/ E‘Iﬁaﬁ?ﬁﬁ?ﬁﬂ
« Starch and Nylon/ W 3R AG@A

Correct Answer :-Starch and Cellulose/ &R 3R '\ﬁﬂ?ﬁ'\‘r

45)



Question Stimulus :-
The number of unpaired electros in PECV:I" /[PHCNLIT § srgfira saaeTH) @1 S©T 8-
e 3
o 2
e 1
e 0
Correct Answer :-0

46)
Question Stimulus :-

The Correct Order of acidic Character is/3%g {[Uﬁ o1 I8! U 8-

o H:0 =H,S = H,Se > H,Te
o H:0 < H,S < H,Se < H,Te
o H:0 = H,8=H,Se = H,Te
o H:0 < H,5=H,5e > H,Te

47)

Question Stimulus :-

The formula of Peroxodisulphuric acid is/ Wﬁ'\tﬁw STRT DI JA g



o H250;
H,50,

H, 5,0,
H, 5,05

Correct Answer :-Hfi’q?';IE

48)
Question Stimulus :-

What is ‘X’ in following reaction/ﬁ"}l fufpar A X’ 1 %

? Pd,H,
cH, —C— 0 ——=>X
Baso,
« Acetic Acid/ THife® 3

Acetaldehyde/ Tl f&EgES
Acetone/ E@ﬂﬂq
Benzaldehyde/ Suifcsgrss

Correct Answer :-Acetaldehyde/ THi¢fRgEs

49)

Question Stimulus :-



The Oxidation State of N in V5 is 7 V5 3y & N #Y aifftewzur T=r § -
o +1
o 42
¢ +3
« None of these/3H ¥ ®Ig gl
Correct Answer :-None of these/?zT-I'l?f ) ﬂ"ﬁé el

50)

Question Stimulus :-
Which of the following ions is Colourless?/ g e E QB TR %?

. Zn?*
. Sc3t
. Tt
o zn2+ & SC3+ both/ zn2+ Gﬁ? SC3+ a.:ﬁ.
Correct Answer :-Z7"" & 5¢°" poth/ Z0°7 afiv 5¢** gMt

Topic:- MS_Maths
1)

Question Stimulus :-

d —
—+/x5in x = -
dx



xsinx + cos x

° v2sin x

gin x + x cos x

° Vvxsin x

sin x + xcos x

° 2+/x sin x

xsiny + cos x

° v2xsin x

gin x + xcos x

o
Correct Answer :- Zvxsinx

2)
Question Stimulus :-

[log x dx=7

o ¥ +txlogx + ¢

xlogx-x +¢

e XY logx+c

—logx+x + ¢
o X

Correct Answer :-*09%*-x + ¢

3)



Question Stimulus :-

The direction ratio of the line joining the points (4, 3, -5) and (-2 1, -8) are: / ﬁfg'&ﬁ (4, 3, -5) 3R (-21, -8) G|
firam arelt a1 & fepergura 3:

(2]

y 2,3

¥ r

=1| &

23
77

e 2,4,-13
e 2,2,3
Correct Answer :-6, 2, 3
4)
Question Stimulus :-

If correlation between x and y is r, then correlation between y and x will be: / gfex g Y & g ggawEY r %, ddy
9 x & dtg JgaWY gm:

® -r

® 1-r
Correct Answer :-r

5)



Question Stimulus :-

In what ratio does the y-axis divide the join of (-3, -4) and (1, -2)? / (-3, -4) 3R (1, -2) & fra™ areh a1 # y-
3ref fopa srqura # favfora =ar 82

Correct Answer :-3:1

6)

Question Stimulus :-

J-sm x+cosx 7

1 +Ein 2x
® sinx+c
® cosXx+cC
* X+ cC
o X +cC
Correct Answer :-x + c

7)

Question Stimulus :-



dy

—=1+x+y+ xy.

The solution of the differential equation :=

-
&

x
logll+y)=x+—+¢
° 2

-
&

, X
1+y)*=x+—+c
(1+y 5

log(l+ v)=log(1 +x) +¢

None of these/3TH A HIs gl

xﬁ
log(l+yv)=x+—+c
Correct Answer :- 2

8)

Question Stimulus :-

dy
To1+x+y+ xy
s : / DT THIPRI < T Y grga

Distance of the point (1, 2, 3) from co-ordinate axes are: / ﬁv‘g’ (1, 2, 3) 3 fAd=men 9 T;[ﬁ'!ﬁ%

e 13,10,5

Correct Answer :-"13V10,V

9)



Question Stimulus :-

dy . dy )
Integrating factor of differential equation = & > is: / JGHAT GBI ax o T
JUTH S UNP §

o COSX
o LOMX
o SECX
o Sinx

Correct Answer :-“°¢*

10)

Question Stimulus :-

-+ - -~ > P T “- s e -~ _’:A_n -~
The angle between the vectors 2=1 2 +3k qpng 2 =31 =2 + ko, gfagya=1 -2 +3k gfjg b=31 —2 +kF

d BT BT &:

5

1

. cos™' o
3

-1 -

. cos™
3
cos 1 —
° V14
5

cos~ 1



5
cos~1 =

Correct Answer :-

11)

Question Stimulus :-

x—6 _yt+t1 =z+3

The co-ordinate of the point where the line -1 ¢ ¢ meets the planex +y-2z= 3 are: / I ¥l
x—6 y+1 =z+3

-1 0o 4 Wx+y—z=3ﬁﬁ%?ﬁlﬁ?ﬁ%,3ﬂﬁ§a7ﬁ€m$%}

* (2,1,0)

e (7,-1,-7)
° (1, 2,-6)
e (5,-1,1)
Correct Answer :-(5, -1, 1)

12)

Question Stimulus :-

In a triangle ABC, if £A=30° 2L=105"gpd p = N2thena=2?/1® Aysr ABC, ® gfg 44 =30° £C=105° g5
b=3lgda="2?



e 3V2
Correct Answer :-3

13)
Question Stimulus :-

“T p(x) dx = ) + 200 +yp + o+
The formuIaJr FG) dx = 2100 +w) + 201+, ya-)l is called: / 93

f”"”“f(}csx——[(;ﬁﬂn}ﬂblﬂ Fot )] g

* Trapezoidal Rule/ JHdHW g

* Newton Raphson formula/ RIE:I?!WW
1 1

« Simphson'’s : rule/ g &1: fFaw
3 3

« Simphson'’s ¢ rule/ a9 &1 : fFaH

Correct Answer :-Trapezoidal Rule/ JHaw =a#

14)

Question Stimulus :-

ernﬂnf":x}dx—_[(}D+}n}+3":1~1+} +¥s FVs+ ot Yoo+ Vaor)+ 20vs Fye + o+
The formula *»-3 is called: / 93
xptnk
Jes f(}dx—_[(ll}+}n}+3(31+l +ys Vst ot Vpoat Vo) F 200 Hys + o+
Yn-3)] HeaTdl 8

e Trapezoidal Rule/ IHawW faw



1 1

e Simphson'’s : rule/ g &1: fFgw
3 3

« Simphson'’s : rule/ g &1 : fFgH

e Bisection formula/ ¥ fgHToi® 3]

3 3

Correct Answer :-Simphson’s E rule/ Rroa= =1 = AW

15)

Question Stimulus :-

Zm

3 qq (cos™lx+ xos ly) =7

In

=1 =1y — =1 n—18
sin""x+ sin" "y = — -1 -1, — 7 sin"*x+ sin" -y =
If * then (cos 5+ x0s7y) =7 / gfy

T
o O

°
]

i

Correct Answer :-E
16)
Question Stimulus :-

The Foci of a Hyperbola are (+5, 0) and its transverse axis is of length 8. The equation of hyperbola is:/ TP
Sfauaey &t AIfHAT (15, 0) § YT ST U 37 B! da1g 8 81 SifauRaery &1 gHisw=ur 3:



e« 16 9 °

K: 2
=Y _y
Correct Answer :-16 9

17)

Question Stimulus :-

- " - -~ = o -~ f == = o o -~ = o s -~
IfP=71 —21 +3k apng 9=31 =T+ 5k then the magnitude of P~ %% js;/ gfgP=71 21 +3k gy a=31 -7 + 5k Fg

P — 24 %1 Hruies (TRone) Bt
° v'ﬁ
c 4
o V62—2435
o V66

[
Correct Answer :-V5%



18)

Question Stimulus :-

(z+i)2 [24i)2

The Conjugate of 3+!, in the formofa + ib is:/a+ibdPFUH 3+ W'\‘I‘ﬂ‘ﬁ%

()
o 2 ; 2

13 ,(—9)

—+i|—
Correct Answer :-10 10
19)

Question Stimulus :-

Which of the following statement is true?/ frefafad 3 § @ 919-91 39 %?
* A continuous function is an increasing function/ T& Iddq Bd- agA= gidT %
e A differentiable function is continuous/ T® AHAT B qddq ﬁ'cIT %
* An increasing function is continuous/ T® ggu B Idq gaT @

* A continuous function is differentiable/ T® ddd WA AH A 'Eﬁ'cIT %



Correct Answer :-A differentiable function is continuous/ T& AHAT A Hddq ﬁ'cIT %

20)

Question Stimulus :-

1351 1351
2342 23472
a011 a011
The cofactor of element ‘4’ in 10 2 1 1l jg: 7 10 2 1 1l ¥ 3[qgq *4’ FT YgWUsS 2:
4
e -4
e -10
e 10

Correct Answer :-10

21)

Question Stimulus :
.:ei("' sec x-’E) =7
L

1 2 _
{secx.’x:}: sin v/x

o Hx

1

lx

secy X Sinyx

3
1 — { .'_:}E S
5 Vx (secyx)?sinvx



1 - _ _
— +/x sec/x sinyx
o 2

1 3
c ‘A m{secﬂx}‘ sin+/x
orrec nswer :-

22)
Question Stimulus :-

If the coefficients of rtP term and (r + 4)':h term are equal in the expansion of (1 + x)2°, then the value of r
will be: / f¢ (1 + x)2° F YR ® r d UG TUT (r + 4) d UG & U JHTH &, 99 r BT HIF I:

e 7
e 8
e 9
e 10
Correct Answer :-9

23)
Question Stimulus :-

The true statement, for the graph of in-equations ** 7 2V =6 apq 6* + 4 = 20 5. /arafiypraff 3x + 2y =6
iR 6+ =0 FH e F R wdt HUT &

e Both graphs are disjoint/ SF} ATH YT &

e Both do not contain origin/ gi-i & Ja fag &t 8



e Both contain point (1, 1)/ g+ # fag (1, 1) 8
e None of these/ 399 A ®IS T8I

Correct Answer :-Both graphs are disjoint/ I AT® EY &

24)
Question Stimulus :-

The end points of a diameter of a circle are A (2, -3) and B (-3, 5). The equation of circle is: / T dal & TH
o & R A (2, -3) 3R B (-3, 5) &1 I« &I HIHII &:

X +yi+2x—v—21=0
X +yi+x—2y—21=0
2 +yi+x—2y+21=0
o XX H¥i+2xy+21=0

Correct Answer :-% TV tx—2y—21=0

25)
Question Stimulus :-

tan~ 11+ tan™!

|

=?

tan~1
[ ]

tan ™ —



o tan™l 2
o tan! 3

-1
Correct Answer :-fan 2

26)
Question Stimulus :-

xy-plane divides the line joining the points (2, 4, 5) and (-4, 3, -2) in the ratio: / ﬁi‘,‘éﬁ (2, 4, 5) MR (-4, 3, -2)
&I firam arelt Y@ #t xy-ad foea srqura & faurfea s« 8:

e 5:2
e 3:4
e 3:5
e 1:3
Correct Answer :-5: 2
27)
Question Stimulus :-
. . . X E+;|,-'=1_ E+;-':1
The solution of differential equation <= is: / AHAT GHIBUT o= P18 ¢:
, y=l+ce™
, y=1—ce™

o ¥=xtce™



o ¥Y=X—ce™®

—_ e
Correct Answer :-¥ =1 +¢c¢

28)
Question Stimulus :-

If Q is the angle between the planes 2x -y + 2z = 3 and 6x - 2y + 3z = 5, then cos 0 = ? / afe
2Xx -y +2z2=33R6x-2y+3z2=5F I P Q B dd cos O = ?

H
o 20
E
o 23
17
o 25
20
o 21
%
Correct Answer :-21

29)

Question Stimulus :-

S5einf — 3cosl Seinl — 3cosh

If 5tan @ = 4, then ssné-2coc6 = ? / Y 5 tan O = 4, AF sinf-2cosd = ?

e 0



| =

1
Correct Answer :-©

30)
Question Stimulus :-

Areaboundedbylinesy=2+x,y=2—xandx=2is:/WWTﬁy=2+x,y=2—xGﬁTx=2ﬁqﬁTsl?s{?33[
3T QAP 8:

Correct Answer :-4

31)
Question Stimulus :-

The equation of the plane which is parallel to y-axis and cuts off intercepts of length 2 and 3 from x-axis and
z-axis is: / y-31& & AR 3T x-31& dUT z-37& A HHW: 2 3R 3 TATS P 3<: WUS HIcH aTd JATA DT GHIDBIUT §:

e 3x+2z=1



®* 2x+ 3z =6
®* 3x+2z2=6
®* 3x+2z=0
Correct Answer :-3x + 2z = 6

32)
Question Stimulus :-

If fifth term of a geometric progression is 2, then the product of its first 9 terms is: / qﬁt{ﬁ?{[uﬁc_vl'\' guft &1
Urgdl UG 2 §, 99 S°® UYH 9 UG BT UG §I:

e 128

* 256

e 512

e 1024
Correct Answer :-512
33)

Question Stimulus :-

If 12l =2 [bl=7 ang @b =31+27 + 6k than the angle between 2 and Pis: 7 afg 13 =2, bl=7 gz

axh=3i+zj“+5kaaa’aﬁ-\,ba;mmg:

T
o O



i

Correct Answer :-E

34)
Question Stimulus :-

For any complex number z: / & 9y d=m z & for:

arg(z) + arg(E) =?

o 2T

o 2
0

Correct Answer :-2T

35)

Question Stimulus :-



1f PlA U 4:) =1-PAD P \yhere ¢ stands for complement, then the events “: and * are: / afg
P(Ay U &) =1-P(A) PI43) G5t ¢ o7 orf IR &, 9 TR 4 iR A2 §:

e Mutually exclusive/ TRER 3Uasif
e Dependent/ WRdaA
e Independent/ Wdd

® None of these/ s=n?r 3 ﬁ'sc T-I'tﬂ

Correct Answer :-Independent/ Wda

36)

Question Stimulus :-

d(t _, fCoOsX ) )
—(tan "t —— | =7
1x 1+ sin x

1
Correct Answer :- 2

37)



Question Stimulus :-

T
-
rs

ycot x
- - dx =7
o oot x + 4/tan x

e T

e 5

i

Correct Answer :-4
38)
Question Stimulus :-

If f(x) = &¢°— 9%+ 9 +3 jg jncreasing for every real number x, then:/ fg f(x) = &°— 9%+ 9% +3 y &

Ud® qiKifa® A9 & Y agHE €, 949:

e k>3

Correct Answer :-k > 3



39)
Question Stimulus :-
The roots of the equation X +36-2=0 pre; / SHiHIr G +xi-2=0% I &
e 1,4
e 1,-4
e 1,-8
e 1,8
Correct Answer :-1, -8

40)

Question Stimulus :-

1 K 3 1 K 3
3 K -2 3 K -2
IfA=12 3 —4jssingular,thenk =2 /afg A =12 3 —4faRrx 3megg B, 99 k=2

E
o 3
E
o 3
33
o 2



33
Correct Answer :-2

41)
Question Stimulus :-

Sin 36° cos 9% + cos 36° sin9° =7

e 1

b | =

[
]

°
=
[

2
M|m|

1
Correct Answer :-V2

42)

Question Stimulus :-
o] o]

The sixth Harmonic mean between 3 and % is: /3 3R 12 %@HW’T’W HTY %:

63
o 120

63
o 12



126
o 105

120
o 03

63
Correct Answer :-120

43)

Question Stimulus :-

In a regular hexagon ABCDEF, “E = ? / T% 9UYaYdl ABCDEF, H 4E = ?

o AC 4 AF 4 AB

e A

Correct Answer :-C 4 AF _ AB

44)

Question Stimulus :-
NC, = "C,.; and "P, = "P,, 1 Then the value of n is: / ¢ "C, = "C,_; 3R "P, = "P,,; 9 n HT UM §:
e 3

e 4



e 2

e 5
Correct Answer :-3
45)
Question Stimulus :-

If A and B are mutually exclusive events such that P(A) = 0.4, P(B) = x and P(AUB) - 0.5, Then x =
? / e A 9 B IRER 3Udslf g8 § 59 YR ¥ P(A) = 0.4, P(B) = x 3R FAVYEB - g5 qax =72

e 0.2

e 0.1
e« 5

1
2

[ ]
Correct Answer :-0.1

46)
Question Stimulus :-

X—y 2x-— y]_ [—1 0

] Xx—y 2x-— y]_[—i 0
If 2x+z 3z+wl L5 13 then:/tlﬁ 2x+z 3z+wl

5 13] dd:



e z=1,w=2
e z=2,w=-1
Correct Answer :-z = 3, w = 4

47)
Question Stimulus :-

The quadratic equation with real coefficients, whose one root is 7 + 5i, will be: / aRAfd® TUIH! araT aFf JHIHOT
T NI 4P DT TP Y 7 + 5i 872

o X —1dx+74=0
o X+ 14x+74=0
o X —14x—T74=0

o X+14x—T74=0

Correct Answer ;- —14x+74=0

48)

Question Stimulus :-

1
11

tan 8 =
The general solution of the equation v

[f5]

tan 8 =
is: / GHIBI0T v

(15 ]

&T 99T B9 ¢:

E=n1‘r+EJ nel
° B

m
8 =2nm+—, nel
° 3]



3] +1T I
=nm+ —, ne
° ~ 6

e None of these/ s=n?r 3 ﬁ'sc T-I'&ﬂ

8=nm+ EJ nel
Correct Answer :- &

49)

Question Stimulus :-

6937 () +1(

If f(x) = cos (log x) then :]] = / f¢ f(x) = cos (log x) a9

)27 (5)+1 G-
e -2

o -1

1
2

e None of these/S7H d HIS T8I

Correct Answer :-None of these/3H & &I &l

50)

Question Stimulus :-

x+l y—2 =z+6

In the line @ ¢ 5 is parallel to the plane 2x—3y+kz=0thenk=?/ﬂﬁ'\‘|WWT
x+1l y—-2 zt6

3 ¢ 5 gHAA2x -3y + kz=0F GHR A9k = ?




| LA

| L

B
Correct Answer :->

51)

Question Stimulus :-

limx—0 E§_1=
ex+1
0
e 1
e -1

e Does not exist /3@ & 7¢I &

Correct Answer :-Does not exist /3@ & 8l &

52)

Question Stimulus :-



If pth term of an Arithmetic progression is q and qt" term is p. Then its rth term will be: / afe f&<dt THaR 9ofi
P p df UG q 94T q 91 US p & 99 IJPI r 91 UG gIT:

e p+q+r
* p+q-r
* p-q+r
*pP-q-r
Correct Answer :-p+q-r

53)

Question Stimulus :-

gin(180% + B) co=(50% + B) tan(270%— B) cot(360°%— B)
gin{360°— 8] cos(3&60°+ Blcosec(— Blein (270°+8) = D

Correct Answer :-1

54)

Question Stimulus :-



if"1lp;:Mp, =1:9,thenn=2/3ae™lp;: P, =1:9,@T@n="2
¢ 12
e 11
e 9
e 10
Correct Answer :-9

55)
Question Stimulus :-

After inserting n Arithmetic means between 2 and 38, the sum of the resulting progression is 200. The value
of nis: / 2 YT 38 & ¥ n TUTR HIH ST & I1¢ U AVft BT THT 200 21 9 n HT T &:

e 10
e 8
9
e 18
Correct Answer :-8

56)

Question Stimulus :-

If nC18 = nC12, then 32Cn =?/ qﬁ nC18 = nC12, dd 32Cn =?



« 248
* 496

e 992

1048

Correct Answer :-496
57)

Question Stimulus :-

3x*
I dx =7
xf+1

log(x*+1)+¢

tan 1(x)3+ ¢

3 tan Y(x)¥+¢

e
Ftan~1 (—) +c
o 3

Correct Answer :

_tan"(x)+ ¢

58)
Question Stimulus :-

E.-'-.
—— dx =7
J"L1+ g% 2 +8%)



log[(1 + e*) (2 + e¥)]+¢c
o log(l +e¥)42 + e*+¢

o log V1 + (2 +e¥)+ ¢

14+ e* +
2 + e* ¢

lng(
Correct Answer :-
59)

Question Stimulus :-

If the line X~ % +4=0 3, ¥~ 8 —7=0 5. tangents to a circle, then the radius of the circle is: / afe

X@relf X~ T4=0 g 6 8 —7 =0 g gg oY wuRf Y@ R, 99 g D) B 2

3

b | L

3
Correct Answer :-4



60)
Question Stimulus :-

In tossing 10 coins, the probability of getting exactly 5 heads is: / 10 ol 3t BT WR 3% 5 WY ure F31 Bt
Wi &:

63
e 256

B3
Correct Answer :-236

61)

Question Stimulus :-

dy ¥ _ o

If (X + y) = sin (x + y) then &/ Tf& (x + y) = sin (x + y) a9 &

1 — cos(x + v)
cosi(x + v)

¢ 1

1+ cos{x + y)
cos®(x + v)




e -1
Correct Answer :--1

62)

Question Stimulus :-

1 w w?
w wi 1
wt 1w

1 w w?
w w? 1
wi 1

/R w g @ v e

If w is cube root of unity then

o W2

Correct Answer :-0

63)

Question Stimulus :-

The value of (1 T D°x (1= 1D%g , (1 +D*X {1 - )*Hr gy 2
e -8
o 8j
e 8

e 32



Correct Answer :-32

64)

Question Stimulus :-

o at 1 3¢ 1

n= S0 2mn R T T
If 2(a) 2(a) then S, =? / 4l 20) A AL S, = ?

e—1
° 2

g — g

Correct Answer :- 2

65)

Question Stimulus :-

If A and B are invertible matrices of same order then (AB) ™ =? / gf3 A 3k B UM #Ife & Fgepuviy
3ToqE § aa (AR~ =7

o A1B™1

o« AB1



o AlB
o B 1Al

-1 a—1
Correct Answer -5 4

66)
Question Stimulus :-

If sin 8 + cosec B =2 then the value of sin? 8 + cosec 28 is: / 'Clﬁ sin 8 + cosec B =2 a9 sin® 8 + cosec 28 a;-r-q-r,—.r%:

Correct Answer :-2

67)
Question Stimulus :-

Ifﬁ: ix(@ xD+7x(a xk x(a xE}then' /qﬁ.ﬁ:ix(ixi}+fx(5 xj1k x (a :n:fé}aa_



21
Il
(=N

Correct Answer :-% = 24

68)
Question Stimulus :-

The gradient of one of the lines ¥ *15% + 27" =0 jg twice of the other, then h=? 7 Y@raii ¥ 15 +2y° =05

q TH B Yaurdr gast I@T Pt Yqurdal A g g, 99 h=?

3

-+

=+
B | L

I+
[

Correct Answer :-J—FE'

69)

Question Stimulus :-

1

and @ respectively. What is the probability
1

that the problem will be solved? / T& JH®EI &1 A, B ¥ C & gRI g P o1 &) wiikiewdr wHE: <= i = g
Y 91d &1 T UIiedr © & 9w ga g s

11
The probabilities of A, B and C of solving problem are ¢’

WO e



WO oen

[V Y

L | Ba

]

Correct Answer :-°

70)

Question Stimulus :-

If the parabola

v = dax

passes through the point (3, 2), then the length of latus rectum is: / gfe

WAy ¥ = 42 f§g (3, 2) | YRl ?, 99 TS A1ied B @aTs ¢

1
3

L | B

L] e

4

Correct Answer :-3

71)



Question Stimulus :-

The number of solution of the equations 2~ % =1 ~% ¥ 2% = =23 — 2%, =3 jg. / gafteon 2~ % = L

_X1+2X3 :_2,}{1—2}{2 ZS%Eﬁaﬂ'm%:

Correct Answer :-0

72)

Question Stimulus :-

i o) =2+ then: / afe 1-::?):“1}?3'«'
2 3
e xX=5y=:5
sz
e xX=5y=>°5

:
* x=5y=°

e None of these/3H ¥ ®I5 gl

|
| =

Correct Answer :-x =5,y =



73)
Question Stimulus :-

If the latus rectum of an ellipse be equal to half of its minor axis, then its eccentricity is: / gfe foret ﬂ'ﬁﬁc‘d Cdl
AU SH® AYSAE PT 3MTYUT 8, T ITP! Seb-sd] o:

| b |.:;
i ol

-
L‘“"| ral

V3

Correct Answer :- 2

74)
Question Stimulus :-

A point P is on the y-axis which is equidistant from the points A(-4, 3) and B(5, 2). The co-ordinates
of p will be: / y-3i& R T% fag P it f¥ fagait A (-4, 3) 3R B (5, 2)'&%@@% P & fadwi® gi:

* (0,-2)
* (2,0)

* (0, 2)



° ('21 0)
Correct Answer :-(0, -2)

75)

Question Stimulus :-

If [3+b| =[3-Db] then: / afe [G+b| =[3-D] I
&l = [o]

allb

o alhb

None of these/g‘—lﬁ' 9 a'ﬁ'é' el

5 —
Correct Answer :-2 1 P

76)
Question Stimulus :-

The equation of the line parallel to the y-axis and drawn through the point of intersection of the lines x — 7y
+ 15 =0and 2x + y= O is: /y-G{&I%WHﬂTWGﬁx—7y + 15 = 0 3R 2x + y= 0%9’&!@3?%’9’@319{31?&
TR ¥@T BT THIBIT 3:

e x-1=0
°* xX+1=0

e x-2=0



e x+2=0
Correct Answer :-x+1=0

77)

Question Stimulus :-

1 1 1 1
———t——— 400 =
1z 23 3.4 4.5 ?

4
log. -

log.

=]
log, -
Correct Answer :- °°

78)
Question Stimulus :-

log.(x+ 1) —log, (x—1) = o

5




2

1+1+1+]
x 3x3 5ox°

bt
x 3x3 5ox°

1 1 1 ]

2
Correct Answer :-

1+1+1+]
x 3x3 b5x°

79)
Question Stimulus :-
If (3 + i)z = (3 - i) %, then complex number z is: / I (3 + i)z = (3 - i) , 99 ARy GBI z ?:

* x(3-i),xeR

x

e 3+, xeR

* x(3+i),xeR

®* x(-3+i),xeR
Correct Answer :-x (3-i), xeR
80)

Question Stimulus :-

The equation of straight line which passes through the point (1, -2) and cuts of equal intercepts

from axes, is: / forg (1, -2) I ToRA Tt TUT & A A 3: WS qrefl TR W1 BT FHIHIT 8:

* x+y=1



* x-y=1
* xX-y-2=0
* XxX+y+1=0
Correct Answer :-x +y+1=0

81)

Question Stimulus :-

-

a
+

il
1 =l

L
f

b4 ¢ = Q’th_’en the value

is: / afE A 3 P ok P URUT P 3,4, 5 AR+ P4 C=oqga- Do .Et Ed gy

d ¢ are the vectors with magnltudes 3, 4, and 5 respectively and +
d

n
b.c+ C.

o
ﬂ-‘l-lf

1

° 47
e 25
e 50
e -25

Correct Answer :--25

82)

Question Stimulus :-

x—1 v—2 z—3 x—1 v—1 zZ— 6

Inthelines 2 2% 2 and 3% !t -5 are perpendicular to each other then k = ? / If¢ 9@ ¥@m¢

x—-1 y—-2 =z-3 x—1 y-1 z— 6

3 & 2 3R ok 1 - REARAWddsdik =?




—10
Correct Answer :- 7

83)
Question Stimulus :-

cos72° =7

{x-’g + 'l}
° 4

(+5-1)
° 4

{2 + 1.5:}
° 3

(2-45)
« 3



(v5-1)
Correct Answer :- 4

84)

Question Stimulus :-

Efaz =i+ k b=1+2 ~k gpq &= 3i+pi+ 5K gpe coplanar then the value of p will be: 7 af§ ¢=1-7+k
b=1+2] — k gyg €= 3i+pf + SEmga—q—pmqﬁ—a—m:

¢ 2

¢ -2

¢ -6

¢ 6

Correct Answer :--6

85)

Question Stimulus :-

1z 23 34 45
e ek =l b SR
1! 2! 3 &

?
* 2e

e 3e



Correct Answer :-3e

86)

Question Stimulus :-

1f 7th term of a Harmonic progression is 8 and the 8th term is 7. Then the 15th term will be: / afe foft v
Juft 1 7 9 UC 8 & IUT 8 @1 UG 7 &1 99 SHHT 15 al UG ghm:

* 16

e 14

27

o 14

56

o 15

56
Correct Answer :-15

87)

Question Stimulus :-
E 14
If fifth term of a Geometric progression is : and ninth term is 2¢3, then its fourth term will be: / gfe
1 14

TS U Aot &1 ulerar ug = 9T idl ug 242 8, 99 SUHT IIYT U gI:

e | L

[ ]
Pl | ke



[ ]
| =

LA b

1
Correct Answer :-2

88)

Question Stimulus :-

10 10

1

The middle term in the expansion of woist / ) & UIR H 4 UG %:

1

. _?53}{5},—5
. _mes},—a
e
e

—B63
— X
Correct Answer :- 2

& -5

y

89)
Question Stimulus :-

How many 3-digit even numbers can be formed with no digit repeated by using the digits 0, 1, 2, 3, 4 and 5?



/0,1, 2,3, 43R 5% gRT faqr et siw 3t tRigfa fFd feat &7 el @ 90 T=md 9918 oI gobed! €2
e 56
e 54
e 52
e 50
Correct Answer :-52
90)
Question Stimulus :-
Roots of & + b =0 will be real and distinct if: / & + =0 & 7 arafd® aut fi=-R= g1 afe:
e ab>0
e ab< o0
e ab=0
e None of these/3H & ®I5 gl
Correct Answer :-ab< 0

91)

Question Stimulus :-

(sin 105° sin 75°) =7



(2-43)

{2 + *\-’E}
{x-’g + 'l}
(+5-1)

'[2 + w.,-@}
Correct Answer :- 4

92)
Question Stimulus :-

The probability that an ordinary year has 53 Sundays is: / Td dTYRUI a9 # 53 AR Eﬂﬁ 31 uTRIear %:

1
o 7



1
Correct Answer :-7

93)

Question Stimulus :-

41 42 43
44 45 46
47 48 49

=7

e 2

e 4

e 0

e 1
Correct Answer :-0
94)
Question Stimulus :-

The diff%rential equation of the family of curves ¥ = @¢5& + b jg. s g ey = 205 + B) 7 grgeperd
FHIHT B:

-

d=y
o dx?

-y =0

d?y
—+v =10
o dx*- y



d-y
=+ 2v =
o dx- 4
d?y
—+4y =10
o dx- y
d:
¥+y=ﬂ

Correct Answer :-dx”
95)
Question Stimulus :-
What is the sum of the squares of roots of ¥° ~3xT1=0 ; x* —3x+1=0 & gal & T ST TN T &:
e 5
. 7
9
¢ 10
Correct Answer :-7

96)

Question Stimulus :-
ID+?’!|'E
The formula *°

JN.TD"'?'!R

n
g fuﬁdx:fﬂﬁh+ﬁh}+4ﬁ&+Fa+“”+Fwﬂ}+gﬁh+}h+'"+}h—ﬂ]

dx = “[(yp +¥a) + 404 +yg + =+ Ynoa) + 2002 +3a + = + Vs
FG) dx = S0 + ) + 404 + 3 ¥n-1) + 202 + 34 n ‘]]iscalled:/ﬁir

Fgardl &

* Trapezoidal Rule/ JHdW fraw



1 1

e Simphson'’s : rule/ R7aaa &1: fFgw
3 3

« Simphson'’s @ rule/ R7aaa &1 : fFgw

e Bisection formula/ ¥ fgHToI® 3]

1 1

Correct Answer :-Simphson’s 3 rule/ fR7aHq &7 3

97)

Question Stimulus :-

The maximum value of © = % * 8Y gubject to constraints 2* * ¥ =30 x +2y =24 o qx=0,y =045, 4

JaRIGy 2X Ty =30 x +2y=24 ghox=0, y20 FH gy P = 6% + &Y g aiftrpaw u
°* 90
e 120
* 96
°® 240
Correct Answer :-120

98)

Question Stimulus :-

The minimum value of f(x) = 3*" —8¢° —48x +25 g [0, 3] is: / 3FRTA [0, 3] W f(x) = 3** — 8 —48x +25

®T <Aaq 9 B:

e 16



e -39
e 47

Correct Answer :--39

99)

Question Stimulus :-

i V4x?+ 5x + 8 )
xow  4x +5

b | =

1

Correct Answer :- 2

100)
Question Stimulus :-

In how many ways can 5 boys and 5 girls sit in a circle so that no two boys sit together? / 5 FIS% AR5

dsfeal fran TPl A TP g H 96 IHd 8, Jafh B &l S UPH 1Y 7 9372



o 4 x5!

2! x 5!

4! » 5!

Correct Answer :-* *>'



